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Choose the correct answer:

Question @ Which of the following graphs represents the function x — 2y? = 0?

a)

o

b)

05

d)

\

Question @ Which of the following graphs represents the function 1 — x — |y| = 0?

a)

02 04 06 08

b)

\“\

d)

S
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Question @ The term 4C1(2\/?)3 (— %) is the second term in the binomial expansion of

) (2v-3)
0 (2 -3)
o (vi+1)’
o (vi-g)

Question @ A construction company builds new buildings at an increasing rate. In the first year only

one building is built, in the second year two are built, and so on, with n buildings built in the nth year.
What is the total number of buildings this company built in 12 years?

a) 30

b) 78
¢) 102
d) 128

Let & and 3 be the two roots of the equation x? — px + 1 = 0.

Question @ The value of af equals:

a) p
b) 1
c) —p
d —1

Question @ The value of f_zzlxl dx is:

a)
b)
c)
d)

A DN O

Let L be the tangent line to the graph f(x) = e*atx = 0.

Question@ The equation of L is:

a) y=x-1
by y=2x+1
c) y=x+1
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d y=2x-1
Question L intersects the x-axis at x =

a) —2
by -1
c) 1
d) 2

Consider F(x) = fxl(3t2 + 1)dt.

Question @ F(x) =

a) —x3—x+2
b) x3—x+2
c) —x3+x+2
d x3—-x-2

Question @ The value of F'(0) is:
a) 1
by —1
c) 2
d -2

Question @ The value of F(1) is:
a) 3
b) 1
c) 2
d 0

2x
S dx
x2+1

a) In(x?2+1)+c
b) In(x3+1)+c
¢) Inx+1)+c
d) In(x?+2x)+c

Question @ [

Question @ f\/%dt
a) Vt?—-1+c
1
b) N
) (2—1):+c
-3
d (t?2-12 +c¢
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Question @ The value of Y, (%) is:

a)
b)
c)
d)

= R NNR

N | =

Question @ A manufacturing process consists of 2 stages and each stage consists of 5 tasks. The first
stage should be completed before starting the second stage. However, within any of the two stages, the
tasks can be completed in any order. How many different task sequences are possible?

a) 100

b) 625

c) 10000

d) 14400

Question @) A triangle ABC has side lengths AB =5 cm, AC = 7 cm, and BC= 9 cm. Then cos(A)
equals

a) 0.1

b) 0.633

c) -0.1

d) -0.633
Question @)  If the concentration (C ) of a compound of a certain compoundin a chemical reaction is
given by milligram in a liter by the relation C(t) = thlilswheret is the time. What is the concentration

of C when time approaches infinity?
a)0
b) 15
c) 5
dy1

Question @ The domain of the function f(x) = v2x — 4 is given by

QD

)

oo

)

1
2

O
~

oo

O

o
= —~
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2,0[
2,0[

g § ™

e —_—r—

Question @ The solution of the equation Vx2 — 6x +9 =9 — 2x is
q
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a) {4,6}
b) {4,-6}
¢ {4}
d) {6}

Question @ If f(x) = 2%, then the value of x that satisfies the equation f(x) = f(5 — x)? is

a) {43}
b) {4,2}
c) {23}
d) {-2,-3}

Best Wishes for all
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Important tables/formulas

Differentiation Formulas:

d
l. —ix)=1
a’xm

Pt
—
r
B
b
et
-,
B

(]
=
-
Il
=
b

4, —(cosx)= —sinx

dx
d

5. —(sin x) = cos x

dx

6. —(tan x) =sec” x
dx )
d 2
7. —lcotx)= —csc x

dx
d

B, —(secx)=secx tanx
X

9. ifcsc x)= —csc x(cot &)

dx

d
10, —(1 =—
dxfnx] .

11 drf ")
.Et =

12. d—{ifa""] = (ln a)a”

1
L) =

13. —(sin”

dx V1T — &
d |
14.Efcan_lx]= s
15 ”rr nry :
5. —(sec” ¥) = ————
dx lx| o/ x* — 1

Some additional integration formulas:

[y = In(f () + €

f(x)

fjf((i’dx 2JfCO) +C

Integration Formulas:

l.fldx=x—|—(_?

2 adyx=ax+0C

x"dx =

3.
H+1

4 [ sinxvdyx= —cosx+C

5 [ cosxdx=sinx+C

6. | secxdx=tanx+ C

8.

sec x(tan x) dx =secx + C

9.

cscxfcotxy) dx= —scx+ C

10. dx=In|x| +C

1
EY

11. “dx

12. ;ra"x— +C'r2>'D,;z;é1

11 o

13. :Irx—sm x+C

/
/
/
/
I~
)i
/
/
/e
/
[ o=

dx=rtan 'x+ C

yus

15. dx=sec 'x+ C

/ | x| w.,n’x’- —1
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Arithmetic sequence:

e General term:
e Summation:

Geometric sequence:

e General term:
e Finite summation:
e [nfinite summation:

Binomial theorem

a,=a, +(k—-1)d
Sn=Yho1ax = (a1 + ay) =2 (a+ (n - 1d)

a, = a;rk1
a;(1-r™)
S, =Yr_a, =
k k=1 Ak 1
(o] 1
SOO - Zk:]_ ak = 1—7’" |T‘| < 1

° (x-l—y)n =an+C1nan‘1b+C2"a"‘2b+---+bn

Permutations: Number of ways of selecting r out of n objects taking order into

n!

consideration: P =

T (n-n)!

Combinations: Number of ways of selecting r out if n objects without taking

order into consideration: C*

n!

rl (n=-r)!’
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